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LINEAR INEQUALITIES

1. Solve —12x > 30, when x is a natural

number.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_26xQ7g3QSCsL

2.Solve — 12z > 30, when x is an integer.

o Watch Video Solution

3.Solve 3x + 8 > 2,when x is an integer.

° Watch Video Solution

4.Solve 3x + 8 > 2,when x is a real number.

o Watch Video Solution



https://dl.doubtnut.com/l/_26xQ7g3QSCsL
https://dl.doubtnut.com/l/_fBJv99bqIKp4
https://dl.doubtnut.com/l/_JlgmIEJgZ6wL
https://dl.doubtnut.com/l/_BNPmdBviMNdM

5. Solve the inequality 3(z — 1) < 2(x — 3).

° Watch Video Solution

6. Solve the inequality 3(2 — =) > 2(1 — z).

o Watch Video Solution

7.Solve the inequalities given below for real x :-

37— (3z +5) > 9z — 8(z — 3)



https://dl.doubtnut.com/l/_BNPmdBviMNdM
https://dl.doubtnut.com/l/_GNMZkVcHTPwa
https://dl.doubtnut.com/l/_XUPgFpZe18Q0
https://dl.doubtnut.com/l/_jbrDQLVeiKRn

° Watch Video Solution

8. Solve the inequalities given below for real x :-
3 — 2 —
(z-2) _52-2)
5 - 3

° Watch Video Solution

9. Solve the inequalities given below for real x :-

r  (5z—2) (Tz—3)
153 T 5

o Watch Video Solution



https://dl.doubtnut.com/l/_jbrDQLVeiKRn
https://dl.doubtnut.com/l/_oHjpM7W4swRN
https://dl.doubtnut.com/l/_bquhi9PXbDq6
https://dl.doubtnut.com/l/_n0iVvIAjr8xr

10. Solve the inequalities given below for real x

.1 3x+4>1( 6)

o Watch Video Solution

11. Solve the inequalities given below and show

the graph of the solution on number line:-

e —3>3x — 5

° Watch Video Solution



https://dl.doubtnut.com/l/_n0iVvIAjr8xr
https://dl.doubtnut.com/l/_nFsddOcWBN9e

12. Solve the inequalities given below and show

the graph of the solution on number line:-

£> (5213—2) B (733—3)
2 3 5

o Watch Video Solution

13. To receive Grade ‘A in a course, one must
obtain an average of 90 marks or more in five
examinations (each of 100 marks). If Sunita’s
marks in first four examinations are 87, 92, 94

and 95, find minimum marks that Sunita must


https://dl.doubtnut.com/l/_iif8saEn3hPv
https://dl.doubtnut.com/l/_TX6ZCwJFzwNp

obtain in fifth examination to get grade ‘A’ in

the course.

o Watch Video Solution

14. Find all pairs of consecutive even positive
integers, both of which are larger than 5 such

that their sum is less than 23.

° Watch Video Solution



https://dl.doubtnut.com/l/_TX6ZCwJFzwNp
https://dl.doubtnut.com/l/_Y0ElzUYXWapt

15. A man wants to cut three lengths from a
single piece of board of length 91cm. The
second length is to be 3cm longer than the
shortest and the third length is to be twice as
long as the shortest. What are the possible
lengths of the shortest board if the third piece
is to be at least 5cm longer than the second?
[Hint: If x is the length of the shortest board,
then x, (x + 3) and 2x are the lengths of the
second and third piece, respectively. Thus,
z+ (z+3)+ 2z <91 and

2¢ > (x + 3) + 5],



https://dl.doubtnut.com/l/_SgKObg0hiX9L

\ ° Watch Video Solution

16.Solve y 4+ 8 > 2z graphically.

o Watch Video Solution

17.Solve 2z 4+ y > 6 graphically.

° Watch Video Solution

18. Solve 2z — 3y > 6 graphically.



https://dl.doubtnut.com/l/_SgKObg0hiX9L
https://dl.doubtnut.com/l/_jCxPLXsKgW9P
https://dl.doubtnut.com/l/_DcQ2sRwYFpSr
https://dl.doubtnut.com/l/_v9wQhDke7CVs

o Watch Video Solution

19.Solve £ > — 3 graphically.

° Watch Video Solution

20. Solve the following system of inequalities

graphically: 2z + y > 6, 3z + 4y < 12

° Watch Video Solution



https://dl.doubtnut.com/l/_v9wQhDke7CVs
https://dl.doubtnut.com/l/_2RyHLi1WDB91
https://dl.doubtnut.com/l/_X64PJjvT74sP

21. Solve the following system of inequalities

graphically: 2z —y > 1,z — 2y < —1

° Watch Video Solution

22.Solve z > 3,y > 2 graphically.

o Watch Video Solution

23.Solvez +y < 9,y > z,xz > 0graphically.

o View Text Solution



https://dl.doubtnut.com/l/_TCAt6wdm9Hvs
https://dl.doubtnut.com/l/_nQCMDBbvIVyI
https://dl.doubtnut.com/l/_T7AqNlQKzRHU

24. Solve the following system of inequalities

graphically: 5z + 4y < 20,z > 1,y > 2

o Watch Video Solution

25. Solve
3 +4y <60,z +3y <30,z >0,y >0

graphically.

o View Text Solution



https://dl.doubtnut.com/l/_T7AqNlQKzRHU
https://dl.doubtnut.com/l/_NQTIlw5GitFt
https://dl.doubtnut.com/l/_0cyMg34I3daH
https://dl.doubtnut.com/l/_BUGlI4FBVIL8

26. Solve
3r +2y <150,z +4y < 80,z <15,y >0

graphically.

o View Text Solution

27. Solve
zr+2y<10,z4+y>l,z—y<0,z>0,y>0

graphically.

o View Text Solution



https://dl.doubtnut.com/l/_BUGlI4FBVIL8
https://dl.doubtnut.com/l/_ls5ZPLR4isxw

Important Questions From Miscellaneous

Exercise

1. Solve the inequalities given below:-

3z
—12<4—_—5§2

o Watch Video Solution

2. Solve the inequalities given below:-

6 < —3(2x —4) < 12

o Watch Video Solution



https://dl.doubtnut.com/l/_EFnYQXmVgh7b
https://dl.doubtnut.com/l/_TrBuAoMkNPFG
https://dl.doubtnut.com/l/_AS8qWwwBy2Pa

3. Solve the inequalities given below and

represent the solution graphically on number

line-5z +1 > — 24,5z — 1 < 24

o Watch Video Solution

4. Solve the inequalities given below and
represent the solution graphically on number

line-3z — 7 > 2(x — 6),6 —x > 11 — 2x

o Watch Video Solution



https://dl.doubtnut.com/l/_AS8qWwwBy2Pa
https://dl.doubtnut.com/l/_BZRoKy0r5OQC
https://dl.doubtnut.com/l/_4CkxWUovVvHn

5. A solution of 8% boric acid is to be diluted
by adding a 2% boric acid solution to it. The
resulting mixture is to be more than 4% but
less than 6% boric acid. If we have 640 litres of
the 8% solution, how many litres of the 2%

solution will have to be added?

° Watch Video Solution

6. IQ of a person is given by the formula

MA
IO —
@ CA

and CA is chronological age. If 80 < IQ) < 140

x 100 , where MA is mental age


https://dl.doubtnut.com/l/_4CkxWUovVvHn
https://dl.doubtnut.com/l/_AYNiwppPTvsN

for a group of 12 years old children, find the

range of their mental age.

o Watch Video Solution

7. A solution isto be kept between 68° F and
77° F. What isthe range in temperature in
degree Celsius (C) if the Celsius / Fahrenheit

(F) conversion formula is given by

9
F:EC+32?

o Watch Video Solution



https://dl.doubtnut.com/l/_AYNiwppPTvsN
https://dl.doubtnut.com/l/_oH4FQFvGDz4z

Multiple Choice Questions

1. The inequality 4z +3 < 6z + 7 is true,

when x belongs to

A (— 2, 00)
B.( — 00, —2)
C.(—2,2)

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_hzq7Pmnn9wrm

2.The inequality 4x — 7 < 3 — z is true, when
x belongs to

A (— o0, —2)

B.( — o0, 2)

C. (2, o0)

D.[ — 2, 2]

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_hzq7Pmnn9wrm
https://dl.doubtnut.com/l/_8zDeCG3BdmTi

3.Solution of 3z + 17 < 2(1 — z) is

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_sawHvxZyAxGN

4. The inequality —2x + 6 < 5 — 4 is true,

when x belongs to

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LaOcJsuBqiro
https://dl.doubtnut.com/l/_X1scTaw1hbiw

5. Solve the inequalities given below for real x :-

37— (3z +5) > 9z — 8(z — 3)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_X1scTaw1hbiw

2 — 3

. Soluti f > 3
6. Solution o 3m_5_3|s
A-1 12
._, -
. 5 12
'_3’ 7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7p3rcxNAz6Aq

7. Solve the inequalities given below and
represent the solution graphically on number
line:-bx +1> —24,6cx — 1< 24

A—-d<zTz<)d

B.b <z <10

C.z € (— 00, 00)

D.x € | — 5, 00

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fLkcsvTtiuv4

8. The set of values of x which satisfy the

inequations : 2z — 3 < Tand 2z > —4is

A—2<x<bh

B.—2<x <2

C-hHh<ax<<?2

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_mayj4PVGtzSe
https://dl.doubtnut.com/l/_UNv4ecTTGhI1

9. The solution set of the system of
inequations dr + 3 > 2z + 17 and
3r —5H < —2is

A (1,7)

B.( — 00, 1)

C.[7, 00)

D. no solution

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_UNv4ecTTGhI1
https://dl.doubtnut.com/l/_SpBLXCmfClEz

10. Solution set of the inequation

—11 <4z — 3 < 13is

Axec|—24
B.x € [2, 5]
Cxe|—22

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_SpBLXCmfClEz

11. The solution set
3z —7>2(x—6),6—x>11—2xis
Ax <5
B.x > — 5
Cx >5H

Dz < — 5

Answer: C

of

o Watch Video Solution



https://dl.doubtnut.com/l/_O0PckU4cF5c2
https://dl.doubtnut.com/l/_bKMVJgyKZ81c

12.Solution of [3 — z| < & — 3is

Ax <3

B.x >3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bKMVJgyKZ81c

13. The values of x which satisfy the inequation

10 < —5(x —2) < 20are

A (—2,0]
B. [0, 2)
C.[—22]

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_X6TU3nmQR6IT
https://dl.doubtnut.com/l/_NktYyxRAhCjN

14. Solution set of the inequations

3r —7<5+zxand1ll — 5z <1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NktYyxRAhCjN

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qHDtD9DqiIvj

